Sprendimai / Solutions
I turas/ I round

I. Dante Rizzetti (L'Echiquier Belge)
1. cd3! (5) (2.Wp3#)

I1. Walther Jgrgensen (Arbejder-Skak 1943)
1.2e31 (2. g6+) (1)

1... Rd4+2.Le4 (1)

. c4+2.2e2 (1)

. Hc3+2.2f2 (1)

.. Wg5+ 2.£95+ (0,5)

.. He82.2d3 (0,5)

el

I1l. Anekceit Tpounkuii (Hlaxmater 1929)
1.b7 (1)
1. Bc2+2.2c29¢23. d2+ (1)

3. @e3 (3... ©f4 4. b8+ +-) 4081 (2) (4.b8Y g1 5 W57+ 2e2 6. Wg1-)

4..Le25.8a7! (1) +- (5.£h2 ©f2=)

IV. Milo$ Marysko (Feenschach 1959)
1. W1+ f12.Wga g3+ 3.2f30-0#(2,5)
1.Wh2 e22.Whs En33.Wds Ee3# (2,5)

V. Walter Horwitz (Lidova demokracie 1947)
1.Ha6! (1) 2. f7+~3. d6+) (1)
1. a62.2d1(3.Eg1) (1)

2. Wd13.f4(1)

2. Wg33fg,Ehi+ (0,5)

2. Wg23 Ehi+ (05)

VI. Bykora Huxonerunh (Rochade Europa 2002)
1. e31(2. gi+ 2f53.e4+) (1)

1. &5 2.Wha+ £g43. e6+ (1)

1. &g12. c2+ £e33.Wd4+ (1)

1. Bb2 2. Whe+g53. di+ (1)

1.. Ep32. f5+ Ee33. e6+ (1)

VII. Nikola Predrag (Problem Online 2005)

lba[+ gl] h3[+&c8]2.&£h3[+ bl] a3[+&a7]3. a3[+ g1]

f3 [+Ea8] # (5)



Sprendimai / Solutions
Il turas/ Il round

VIII. Lewis Rothstein (Good Companion 1916)
1.2 51 (5) (2. £ c5#)

IX. Johann Schneider (Chemnitzer Tageblatt 1925)
1.£.d4! (0,5)

1... cd+ 2.2d2 (1,5)

1...ed+ 2.2c4 (1,5)

1.. BEd42. g1(15)

X. Dpuecr IMorocsui (MockoBckuii komcomourer; 1964)
1.Be7+2f22. d4(1)

1% (2., ¢33 f32f34.Bel=)3.Ee2+ (1)

.. 2g34.Ke3+ (1)

.. 2945 Hes+ (1)

.. 2h36.Eh4+ 2h47. 3+ (1) (7..€~8. gl=)

Ok~ wbdN

XI. Aurél Karpati (Sinfonie Scacchistiche 1973)
1. d4 Bc22.8a6 &ba# (2,5)
1. a6 £dg82. c3 Eb6# (2,5)

XIl. Knud Hannemann (Skakbladet 1934)
1.Wg11 (1) (2.%h2)

1. fg% 2.£d5 5

hg¥ 2.2d5, ¢5

.hg 2.£d5 ¢5

.hg& 2.2d5, ¢5

.hg& 2. ¢5(1) (38.£d5)

.al¥W 3. Eal (1) (4.£d5)

.cl 4.Ec1(1) (5.£d5)

.fIR 5. a6 (1)

PODNDEPEPREPE

XI11. Abdul Jabbar Karwatkar (The British Chess Magazine 1975)
1. h4l

1... g32.&c8+ f53.Wg2+ Eg24. Eh1i+ Eh25.86 (2,5)
1. f22.Bc3+ d33. 5 Eh14.¥Whi+ Eh25.Eca3 (25)

XIV. Jacob Bronowski (The British Chess Magazine 1931)
1. g4l (2.&f1) (1)

1. &d4+2. f2(1)

1. £922. h6 (1)

1. Efg2.£h1 (1)

1. Ehg 2.8h1 (1)



Problems Difficulty (11 Solvers)

ID| Tag |Difficulty|Average|S(Correct Solution)|0 < Pts. < 5[0 (Wrong Solution)|- (No Solution)
13| S#5 8641 0.68 1 1 2 7
12| #6° 8541 0.73 0 2 5 4
3| + 800 1.00 1 6 2 2
51 #4 754 1.23 2 1 3 5
7 |Fairy 728| 1.36 3 0 4 4
4 | H#3 682| 1.59 2 3 0 6
6 | S#3 654 1.73 1 5 2 3
91| #3 600] 2.00 4 1 4 2
14|Fairy 582 2.09 4 1 2 4
10| = 418 2.91 5 2 2 2
2| #3 400 3.00 2 6 1 2
#2 90| 4.55 10 0 1 0
11| H#2 90| 4.55 10 0 0 1
81 #2 0f 5.00 11 0 0 0
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